C2/B Trigonometry: Solving
Equations

® (a) Find all values of x between 0° and 360° satisfying
tanx = — 0-4. [2]
(b) Find all values of x between 0° and 180° satisfying
1
e [4]
S
(c) Find all values of 6 between 0° and 360° satisfying

2 cos’0 +3sinf = 0. [5]

@ Find all values of 8in the interval 0° < 6 < 360° satisfying

(a) 4 cos*@-cosf=2 sin’6, : [6]

(b) tanf=-3, 2]
1

(c) sin20= 7 3]

@ (a) Find the values of x in the range 0 < x < 360° satisfying
8 cos’x + 2 sinx — 7 =0. : [6]
(b) Find the values of x in the range 0° < x < 180° satisfying

tan 2x = 1. (3]

@ r(a)ﬂﬁﬁi?n’d'a]l values of x in the range 0° < x < 360° satisfying
. 2 sin’x+cosx-1=0. [6]
(b) Find all values of x in the range 0° to 180° satisfying

tan3x=1. . 4]

@ (@)  Showing all your working, find all the values of @ between 0° and 360°
satisfying '

- 65sin’@ +cosd —5=0. - [6]
(b)  Find all the values of x in the interval 0° < x < 180° satisfying the equation

tan 3x = 1. [4]



2 sin® x + 3 cosx=0

in the interval 0 < x < 360°.

(6]
@ (a) Find the values of x between 0° and 360° satisfying the equation
8 cos’x =7 -2 sinx. : : [6]
(b) Find the values of x in the range 0 < x < 180° satisfying the equation
tanx = 2 sinx. [5]
:8) (a) Find all the values of x in the range 0° to 360° satisfying the equation
5cos’x + 4sinx -4 = 0. [5]
_ . (b) Find all the values of @ in the range 0° to 360° satisfying
/3 tan6 = 25in 6. [5]
D (a) Find all the values of x in the range 0° < x < 360° satisfying
13sin’x + cos?t = 5sinx + 3. [6]
(b) Find all values of x in the range 0° < x < 180° satisfying
tan 2x = /3. [3]
D (a) Find the values of x between 0° and 360° satisfying the equation
6cos® x + sinx = 4. [6]
" (b) Find the values of 6 between 0° and 180° satisfying the equation
tan(36-15°)=1 . ' (4]
) (a). Find all the values of x in the range 0° to 360° satisfying the equation
2cos’x = 1-sinx. [6]

(b) Find all the values of x in the range 0° to 180°
' V3

cos3x = —. 3]
X 5 : [

satisfying the equation



